# *s*tryker

## LIFEPAK 15 & LUCAS 3.1

512-671-2783

Quote Number: 10137750 Remit to: Stryker Medical

P.O. Box 93308

Chicago, IL 60673-3308 Version: Prepared For:

ROUND ROCK FIRE DEPT STA 1 Rep: Jordan Costello

jordan.costello@stryker.com Attn: Shane Glaiser Email:

sglaiser@roundrocktexas.gov Phone Number:

Quote Date: 03/26/2021 Expiration Date: 05/31/2021

| Delivery Address |                               | End User - Shipping - Billing |                               | Bill To Account |                    |  |
|------------------|-------------------------------|-------------------------------|-------------------------------|-----------------|--------------------|--|
| Name:            | ROUND ROCK FIRE DEPT STA<br>1 | Name:                         | ROUND ROCK FIRE DEPT STA<br>1 | Name:           | CITY OF ROUND ROCK |  |
| Account #:       | 1514342                       | Account #:                    | 1514342                       | Account #:      | 1514339            |  |
| Address:         | 203 COMMERCE BLVD             | Address:                      | 203 COMMERCE BLVD             | Address:        | 221 E MAIN ST      |  |
|                  | ROUND ROCK                    |                               | ROUND ROCK                    |                 | ROUND ROCK         |  |
|                  | Texas 78664-2115              |                               | Texas 78664-2115              |                 | Texas 78664-5271   |  |

## **Equipment Products:**

|      | 1 P          |  |     |             |                                       |  |  |
|------|--------------|--|-----|-------------|---------------------------------------|--|--|
| #    | Product      | Description  | Qty | Sell Price  | Total                                 |  |  |
| 1.0  | 99577-001958 | LIFEPAK 15 V4 Monitor/Defib - Manual & AED, Trending, Noninvasive Pacing, SpO2, SpCO, NIBP, 12-Lead ECG, EtCO2, BT, Temperature.   | 14  | \$31,556.64 | \$441,792.96                          |  |  |
| 2.0  | 41577-000290 | Ship Kit -QUIK-COMBO Therapy Cable; 2 rolls100mm<br>Paper; RC-4, Patient Cable, 4ft.; NIBP Hose, Coiled;<br>NIBP Cuff, Reusable, adult; 12-Lead ECG Cable, 4-Wire<br>Limb Leads, 5ft; 12-Lead ECG Cable, 6-Wire Precordial<br>attachment; Temperature Adapter Cable, 5ft | 14  | \$0.00      | \$0.00                                |  |  |
| 3.0  | 21330-001176 | LP 15 Lithium-ion Battery 5.7 amp hrs  | 56  | \$398.65    | \$22,324.40                           |  |  |
| 4.0  | 11140-000015 | AC power cord  | 14  | \$68.85     | \$963.90                              |  |  |
| 5.0  | 11141-000115 | REDI-CHARGE Base (power cord not included)   | 14  | \$1,292.00  | \$18,088.00                           |  |  |
| 6.0  | 11140-000052 | LP15 REDI-CHARGE Adapter Tray  | 14  | \$175.10    | \$2,451.40                            |  |  |
| 7.0  | 11171-000049 | Masimo <sup>™</sup> Rainbow <sup>™</sup> DCI Adult Reusable Sp02, SpC0,<br>SpMet Sensor, 3 FT. For use with RC Patient Cable.  | 14  | \$544.00    | \$7,616.00                            |  |  |
| 8.0  | 11171-000050 | Masimo™Rainbow™ DCIP Pediatric Reusable Sp02,<br>SpC0, SpMet Sensor, 3 FT. For use with RC Patient<br>Cable.   | 14  | \$599.25    | \$8,389.50                            |  |  |
| 9.0  | 11171-000040 | Masimo™M-LNCS® Pediatric Single Patient Use<br>Adhesive SpO2 only Sensor. Box of 20. For use with RC<br>Patient Cable.   | 14  | \$303.45    | \$4,248.30                            |  |  |
| 10.0 | 11160-000011 | NIBP Cuff-Reusable, Infant   | 14  | \$17.85     | \$249.90                              |  |  |
| 11.0 | 11160-000013 | NIBP Cuff-Reusable, Child  | 14  | \$20.40     | \$285.60                              |  |  |
| 12.0 | 11160-000015 | NIBP Cuff-Reusable, Adult  | 14  | \$25.50     | \$357.00                              |  |  |
| 13.0 | 11160-000017 | NIBP Cuff -Reusable, Large Adult   | 14  | \$28.05     | \$392.70                              |  |  |
|      |              |  |     |             | · · · · · · · · · · · · · · · · · · · |  |  |

# **stryker**

## LIFEPAK 15 & LUCAS 3.1

512-671-2783

10137750 Remit to: Quote Number: Stryker Medical

P.O. Box 93308

Chicago, IL 60673-3308 Version:

Prepared For: ROUND ROCK FIRE DEPT STA 1 Rep: Jordan Costello

> Attn: Shane Glaiser Email: jordan.costello@stryker.com

sglaiser@roundrocktexas.gov Phone Number:

Quote Date: 03/26/2021 Expiration Date: 05/31/2021

| #    | Product      | Description   | Qty              | Sell Price  | Total        |
|------|--------------|---|------------------|-------------|--------------|
| 14.0 | 11160-000019 | NIBP Cuff-Reusable, Adult X Large   | 14               | \$40.80     | \$571.20     |
| 15.0 | 11577-000002 | LIFEPAK 15 Basic carry case w/right & left pouches; shoulder strap (11577-000001) included at no additional charge when case ordered with a LIFEPAK 15 device   | 14               | \$272.00    | \$3,808.00   |
| 16.0 | 11220-000028 | LIFEPAK 15 Carry case top pouch   | 14               | \$48.45     | \$678.30     |
| 17.0 | 11260-000039 | LIFEPAK 15 Carry case back pouch  | 14               | \$69.70     | \$975.80     |
| 18.0 | 21996-000109 | Titan III WiFi Gateway  | 14               | \$900.45    | \$12,606.30  |
| 19.0 | 11230-000020 | Serial port cable   | 14               | \$137.70    | \$1,927.80   |
| 20.0 | 11240-000032 | Strip chart recorder paper, 100mm 2rolls/bx (1-23)  | 14               | \$17.85     | \$249.90     |
| 21.0 | 11996-000311 | QUIK-COMBO 12-lead Patient Simulator  | 1                | \$777.75    | \$777.75     |
| 22.0 | 99576-000063 | LUCAS 3, v3.1 Chest Compression System, Includes<br>Hard Shell Case, Slim Back Plate, (2) Patient Straps, (1)<br>Stabilization Strap, (2) Suction Cups, (1) Rechargeable<br>Battery and Instructions for use With Each Device | 2                | \$13,876.50 | \$27,753.00  |
| 23.0 | TR-PMRX-LP15 | TRADE-IN-PHILIPS MRX TOWARDS PURCHASE OF<br>LIFEPAK 15  | 12               | -\$6,312.75 | -\$75,753.00 |
|      |              |   | Equipment Total: |             | \$480,754.71 |

### **Trade In Credit:**

| Product | Description | Qty | Credit Ea. | <b>Total Credit</b> |
|---------|-------------|-----|------------|---------------------|
|         |             |     |            |                     |

### **Price Totals:**

\$480,754.71 Grand Total:

#### Comments:

PROPOSAL IN ACCORDANCE WITH NASPO COOPERATIVE CONTRACT NUMBER OK-SW-300

Prices: In effect for 60 days.

# **stryker**

### LIFEPAK 15 & LUCAS 3.1

512-671-2783

Quote Number: 10137750 Remit to: Stryker Medical

P.O. Box 93308

Chicago, IL 60673-3308 Version: Prepared For:

ROUND ROCK FIRE DEPT STA 1 Rep: Jordan Costello

Attn: Shane Glaiser Email: jordan.costello@stryker.com

sglaiser@roundrocktexas.gov Phone Number:

Quote Date: 03/26/2021 Expiration Date: 05/31/2021

Terms: Net 30 Days

Contact your local Sales Representative for more information about our flexible payment options.

AUTHORIZED CUSTOMER SIGNATURE

#### **Capital Terms and Conditions:**

Deal Consummation: This is a quote and not a commitment. This quote is subject to final credit, pricing, and documentation approval. Legal documentation must be signed before your equipment can be delivered. Documentation will be provided upon completion of our review process and your selection of a payment schedule. Confidentiality Notice: Recipient will not disclose to any third party the terms of this quote or any other information, including any pricing or discounts, offered to be provided by Stryker to Recipient in connection with this quote, without Stryker's prior written approval, except as may be requested by law or by lawful order of any applicable government agency. A copy of Stryker Medical's Acute Care capital terms and conditions can be found at <a href="https://techweb.stryker.com/Terms\_Conditions/index.html">https://techweb.stryker.com/Terms\_Conditions/index.html</a>. A copy of Stryker Medical's Emergency Care capital terms and conditions can be found at <a href="https://www.strykeremergencycare.com/terms">https://www.strykeremergencycare.com/terms</a>.